Engle Group Mechanism Yang, K. 1/21/2016

1. Propose a mechanism for the following transformation.
a. ldentify named reactions from step 2 and step 3.
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2. Draw the key intermediate and propose a mechanism for the following one-pot transformation.
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3. Draw the product, and propose a mechanism for the following transformation. B
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4. Propose a mechanism for the following transformation.
a. ldentify the active catalyst. (Hint: What catalyst is turned over in a closed catalytic cycle?)
b. Explain the product ratio with respect to reaction time.
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5. Propose a mechanism for the following transformation.
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6. Upon treatment with a phosphinothiourea catalyst, compound A was found to isomerize to a propargyl ester.
Compound A is the active isomer in the amination reaction that follows. Draw a mechnism for both the
isomerization of A, and its transformation to the unsaturated ester.
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